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MC /Data

Polar angle of 3rd jet

Juy

ETT T ‘ T T ‘ T T ‘ T ‘ T ‘ T ‘ T ‘ T ‘ T T ‘ T 1T

= —+— Data -

100 = —— Hw 73.0LO®PS

B —+— Hw 7.3.0 LO & Dipoles]

50 u Hw 7.3.0NLO®PS |

= —+— Hw 7.3.0 Merging -

L —t— Hw 7.3.0 NLO @ Dipole

o I:b . .o —t-Hw720lQaLS, |

B -+ - Hw 7.2.0 LO & Dipoles

- Hw 7.2.0 NLO&®PS| 4

-50 [ —+ - Hw 7.2.0 Merging— _|

C —+ - Hw 7.2.0 NLO @ Dipole

:\ [ [ ‘ [ ‘ [ [ ‘ [ ‘ [ ‘ - [ [ \:

1.4 ;\ [l T ‘ 17T I\ | IR T ‘ T ‘ T ‘ T T Tt \E

13 il o HE

1.2 B | ’7 I=

1.1 B — = ==

N AR I IR TR st T et Sa AR = SR ARSI e

0.9 5 — == == S =

8’§ = ==SEa==E | 2

88 ? L1l _\|_\|\ | w\—l L1 L1l ‘ | \l\_H | \.—‘—U—l [ ‘ | \J_U_HTH—E
0 01 02 03 04 05 o6 O07 08 09

~—

cos (6%

72}

9]



